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26 1 1 [@E#sT7IIY—EZX| O @) 400,000\  7K%E b=
26 1 2 |BAIVATSAX () O O o 200,000 /hE XE
26 4 3 5% B— (@) (@) 50,000  JKFRE ES bN=1
26 6 4 #L A5 (@) O 10,000{ K%
27 1 5 g B (@) (@) 20,000(  skFE OEERES
27 1 6 KA & @) O 10,000{ K%
27 1 7 £k E— (@) O 10,000|  JKF®
27 1 8 #1 —5 (@) O 10,000| K%
27 1 9 W —E (@) O 5000 k%R OEEREES
27 1 10 (B)EBET7—L (@) O 30,000( skFE OEEREES
27 1 1 TE HOF @) (@) 30,000( skFE OEERES
28 2 12 NG #5 @) (@) 20,000|  JkFR
28 3 13 NS A @) O 50,000|  JkFR
28 3 14 HSEBRE (@) (@) 200,000  KFE ZIE ES
29 4 15 i EFE @) O 6,000 K%
30 3 16 5% X4 O @) 300,000|  7K¥E b=
30 3 17 ¥l IEAI o (@) 20,000  skFE OEEREES
30 4 18 B AR ©) O 10,000| K% B
ISSEREEARHE 18 fE2HLmEE 1,381,000
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26 1 6 # 7 —rxE @) O 200,000  KFE OEEREES
26 1 7 |BAIVATSAX () O O o 200,000 /hE XE
26 4 8 5% B— (@) O 50,000|  JKFR ES bN-=1
26 4 9 |@wEEFIIALFY—| O O 100,000| 7K OEEREES
26 6 10 B B3 (@) (@) 100,000| 7K OEEREES
27 1 " FR £5 (@) (@) 100,000\  JKF® OEERES
27 1 12 #HE ETE (@) (@) 100,000| 7K OEEREES
27 1 13 B AR @) O 13,000{ K% B
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27 1 15 % & (@) O 50,000|  JKFRE
27 1 16 RO BE O O 80,000|  JkFR
27 1 17 E® &4 (@) (@) 10,000  JkF@ OEERES
27 3 18 % 82E O @) (@) 100,000| 7K
28 2 19 | (@ MERI7—LIUR[ O O (@) 1,000,000  KFG RE BHx
28 3 20 INEIE 5B @) O 50,000|  JKFR
28 3 21 HSEBRE @) (@) 200,000  KFE zIE ES
29 1 22 |(®RETRS1277—4] O (@) (@) 600000| JKFE | SARAR | K=
ISSERERHE 22 E2F LA 5073000
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26 1 4 BE HOF (@) (@) 600,000  JKFRE OEEREES
26 1 5 |(B#HBTIIH—EX| O O 750,000  7kKFE ES x=E
26 1 6 Hith EFE @) O 50,000  JkFR bN-=1
26 1 7 # 7 —rxE @) O 200,000  KFE OEEREES
26 1 8 |BAIVATSAX () O O o 200,000 /hE bN-=1
26 6 9 CEE=A%: O O 20,000|  JKFRE
28 3 10 INEIE SRR ©) O 50,000  JkFR
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28 4 12 £k BRE @) (@) 30,000( skFE OEEREES
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ISSEREERHE 13 B2 HLmEE 2,780,000




Bt EREROHEICET IEEE 1 7TEE2H(AR)

BE2HEEAEIURXFE
HETH & £
X 5 & EERE
ABH/EEN HOEBREFRAENT
DERES REBERS DX S RETHIRAMFER ERIILESET DD
K&(&#) A3 SEMM) 0t
BREE | BERE| No RER | Rigs |sneAs| B | #EE | SHEH =1 | B2 | E36:]
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26 6 8 RH 5& O O 50,000  JkFR XE ES
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26 6 11 XHB RAl— O O 50,000|  JkFRE = OEERES
26 6 12 AR & @) (@) 30,000( skFE OEERES
26 6 13 & b O O O 20,000  7k¥E LY
26 6 14 HERE EE @) (@) 20,000(  skFE OEEREES
26 6 15 =i TE (@) (@) 40000  JKFE
26 6 16 B BX (@) (@) 300,000  KFE
27 1 17 BiF %7 @) O 50,000  JkFR =
27 1 18 =8 B O O 100,000|  JKFE AE
27 1 19 & RZ- (@) (@) 50,000(  skFE K& XE
27 1 20 HE B O O 50,000  7k¥E
27 1 21 B ih— O @) 30,000| UK OERYEEES x=E
27 1 22 BAA FAR (@) (@) 20000 JkF@E RE OEEREES
27 1 23 HE LA @) O 10,000{ K%
27 1 24 HiE AT @) (@) 30,000( skFE OEEREES
27 1 25 HiE XM (@) 0] 4000  KFE b=
27 1 26 ME RE (@) O 20,000|  JKFRE
27 1 27 HER XE @) O 10,000|  JKF®
27 1 28 HE EX @) (@) 30,000( skFE OEEREES
27 1 29 &%k =BB @) (@) 30,000( skFE OEEREES
27 3 30 Hith —F (@) O 30,000  JkFR
27 3 31 | (BJUUM.A S. L O O O 1,000,000|  KF@ = £
28 2 32 | EPSNIENE (@) O 100,000 K7 b=
28 3 33 RH FX (@) O 30,000  JkFR
28 3 34 FRK BE @) O 30,000  JkFR
28 3 35 INEIE SRR @) O 50,000  JkFR
28 3 36 HSERE O O 200,000  7kFE EqEs £
28 4 37 £k BE @) (@) 30,000( skFE OEEREES
29 4 38 & {EBR (@) O 50,000|  JkFR ES
29 4 39 ERKR #%F @) (@) 5000| MEE%EFSE
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26 6 10 WHE R/E @) O 20,000|  JkFRE =
26 6 11 & b O O O 20,000  7k¥R LY
26 6 12 HERE EF @) (@) 20,000| k%R
26 6 13 CEGE=YA%: O O 10,000|  JKFE
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27 3 19 | (B)U. M. A S. L O O O 200,000  7kFE = £
28 3 20 INEIE 5B @) O 50,000  JkF®E
28 3 21 HSBERE (@) (@) 200,000  KFE zIE ES
29 4 22 fEXT fEED O O 50,000  7k¥E ES
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26 1 1 =N O O 50,000  JkFRE
26 1 2 |BAIVATSAX(K) O O o 200,000 /hE bN-=1
26 4 3 5% B— (@) (@) 50,000  JKFRE ES bN=1
26 4 4 | BEEHTIIALFY—| O O 100,000| 7K OEEREES
26 4 5 (B RY—R b= O O 10,000| THEFZE | Rt (TKD)
26 6 6 N RE O (@) 100,000| K% OEEREES
27 3 7 Bk Bt @) O 100,000|  7KFRE OEEREES
28 3 8 INEIE SR @) O 50,000  JkFR
28 3 9 HSEBRE (@) (@) 200,000  KFE ZIE ES
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30 2 1 5% X4 o @) 100,000  JKFE b=
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